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I. Choose the correct answer.                                                   ( 12 x 
𝟏

𝟐
 = 6 Marks)                                                                    

 a. OMR  is the national currency of  

 

a. India                               b. Sultanate of Oman           c. Australia  
  

b. If  something is divided into 4 equal parts , each part is called a  

 

a. half                                 b. quarter                              c. one whole 
 

c. How many centimetres make a metre ? 

 

a. 100 cm                           b. 10 cm                                c. 1000 cm 
 

d. The value of  
 𝟑

𝟖
 + 

𝟒

𝟖
  is  

 

a.    
1

8
                                   b.  

7

8
                                       c.  

3

8
 

 

e. To convert rials into baiza we should  

 

a. multiply by 1000           b.  multiply by 100                c. divide by 1000 

 
 

f. Four parts out of  eight equal parts is called  

 

a. four - eighths                 b. two – eighths                    c. six - eighths  
 

g. The distance between two cities is measured in   ______________   

 

a. metres                            b. centimetres                        c. kilometres       

                                                     

h. 4000  baiza =  OMR  __________ 

 

a. 4                                     b. 40                                      c. 400. 
 

i. The value of  
 𝟕

𝟏𝟎
 -  

𝟑

𝟏𝟎
  is  

 

a.
4

10
                                   b.  

2

10
                                       c. 

7

10
 

 

j. 9 km  = ____________  m 
 

a. 90                                   b. 9000                                  c. 900  
 



                                                                                                                                                                                                                                                                                                                                                                                    

III. Do as directed.                                                                                   (8 Marks)                                                                    

a. 𝟏𝟐

𝟒𝟓
  ______________  

19

45
    Insert (< , > , = ) 

 

b. 𝟏

𝟗
 of 45 = _____________________ 

 

c. Convert into meters.  

 

8 km 500m =  ________________________ m 

 

 d. Arrange the following fractions in descending order.  

 
𝟑𝟏

𝟑𝟒
  ,  

𝟏𝟕

𝟑𝟒
 ,

𝟐𝟑

𝟑𝟒
 ,  

𝟐𝟏

𝟑𝟒
 

              

e. Add  
13

30
  + 

1

30
 + 

9

30
 

 

f. Convert into centimeters.  

 

19m 3cm =  ________________________ cm 

 

g. Convert into meters.  

                                   

4500 cm =  ________________________ m 

 

h. Convert into metres and centimetres 

 

828 m =  __________  m____________ cm 

 

II

I. 

Read carefully and solve.                                                        ( 3x2=6 Marks )                                                                        

.                                                                    ( 8 Marks )                                                                                            
a. Marina needs 

4

5
 cup of flour for making bread .She has 

1

5
 cup of flour . 

How much more flour does she need ? 

    

b. Sam had OMR 10 with him. He bought a pen for OMR 2.500  and  a book for  

OMR 5.500.  How much money is left with him now? 

    

c. Ravi read 
2

7
 of a book yesterday and 

1

7
 of the book today . What fraction 

of the book did he read in two days ? 

 
 

k. 

 
 

 

l. 

 

2 rials and 200 baiza  is   _____________________  baiza 
 

a. 2000                               b. 2200                                c.22 

 

8000 m  = ____________ k m 
 

 a.80 km                             b. 8 km                               c. 800 km 



    

    

 


